
S
e
r
ie
s
F
lo
w

C
h
a
r
t

1
Xn

=

1
7

a
n

a
b
so
lu
tely
co
n
v
erg
en
t

d
e
f

(
)

h
P

ja
n
j
co
n
v
. i

im

p
lie
s

=
)

h
P

a
n

co
n
v
. i

co
n
d
itio
n
a
lly
co
n
v
erg
en
t

d
e
f

(
)

h
P

ja
n
j
d
iv
g
.

a
n
d

P
a
n

co
n
v
. i

d
iv
erg
en
t

d
e
f

(
)

h
P

a
n

d
iv
g
. i

im

p
lie
s

=
)

h
P

ja
n
j
d
iv
g
. i

D
o
es P
ja
n
j
co
n
v
.?

S
in
ce
ja
n
j
�

0
,
u
se
a
p
o
sitiv
e
term
test:

in
teg
ra
l
test,
C
T
/
L
C
T
,
ra
tio
/
ro
o
t
test.

if
N

O

)

P
ja
n
j
d
iv
g
.
so

P
a
n

is
eith
er

co
n
d
.
co
n
v
.

o
r
d
iv
g
.

n
ex
t

)try

lim
n
!

1

a
n

=
0
?

o
r

(
�
)

eq
u
iva
len
tly

lim
n
!

1

ja
n
j
=
0
?

if
N

O

)

P
a
n

d
iv
g
.
b
y
n
t
h

term
test
fo
r
d
iv
erg
en
ce

if
Y
E
S
+

if
Y
E
S
+

P
a
n

is
a
b
s.
co
n
v
.

Is P
a
n

a
n
a
ltern
a
tin
g
series,

i.e.,
d
o
es P
a
n

=
P

(
�
1
)
n
u
n

w
h
ere
u
n

>

0

i.e.,
d
o
es
a
n

=
(
�
1
)
n
u
n

fo
r
so
m
e
u
n

>

0
?

if
N

O

)

Is P
a
n

is
a

telesco
p
in
g
series?

if
Y
E
S
+

try
A
S
T

if
Y
E
S
+

D
o
es P
a
n

i.e
.

=
P

(
�
1
)
n
u
n

sa
tisfy
th
e
1
s
t

co
n
d
itio
n
o
f
th
e
A
S
T

i.e,
a
re
th
e
u
n
's
d
ecrea
sin
g
,

i.e.,
is
u
n
+

1

<

u
n

?

�
n
d
th
e
p
a
rtia
l
su
m
s
s
N

=

N
Xn

=

1
a
n

a
n
d
th
en
�
n
d
lim
N

!

1

s
N

if
Y
E
S
+

D
o
es P
a
n

i.e
.

=
P

(
�
1
)
n
u
n

sa
tisfy
th
e
2
n
d

co
n
d
itio
n
o
f
th
e
A
S
T

i.e,
d
o
es
lim

n
!

1

u
n

=
0
?

(y
o
u
m
o
st
lik
ely
a
lrea
d
y
ch
eck
ed
th
is
a
t
(
�
)
a
b
ov
e
sin
ce
ja
n
j
=
u
n
)

if
Y
E
S
+

P
a
n

i.e
.

=
P

(
�
1
)
n
u
n

co
n
d
.
co
n
v
.

if
P

ja
n

j
d
iv
g
.

(
=

P
a
n

i.e
.

=
P

(
�
1
)
n
u
n

co
n
v
erg
es

b
y
th
e
A
S
T

U
sefu
l:
rem
em
b
er,
in
g
en
era
l,

lim
n
!

1

a
n

=
0

if
a
n
d
o
n
ly
if

(
�
�
)

lim
n
!

1

ja
n
j
=
0

1


